@\
>
L
=
(@F
Q!

e

O




uin

=<
T

op e

ik

<O

~01oJ

il

N;_Io

5

ol £

-3

Bl

HE

e

3B

S

K =

K0S,

O|_=_m_. “__A.rc _._Arg .

or<F ~J 0 o=
45 uWoe
= == S
o 4 M ut m__g
ety E_E = <H = IH
oﬁo:_% =< |

o WF




An individual will invest in health to the point where the marginal value
of an addition to the health stock is equal to its marginal cost.

The demand for health is presumed to be downward sloping because
we assume decreasing marginal utility of additions to the health stock.

The value of an addition to his/her health stock depends upon the utility
that an individual derives from additional healthy days.

The amount of health stock that can be acquired for a given cost
depends on the individual’s “production function” for health.
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The Consumpon Good
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QA0 QAo HAE & US:

=R 2| JtA &= A (Price elasticity of demand)

* The price elasticity of demand for any good is greater when:
— There are close substitutes available
— A higher proportion of the budget is devoted to the good

1b. Al2t-J1 3 Eké'éjgme price elastl(:ltyeHS;FHHI -2 E

price elast|C|ty)ﬂ} 12 A2 =0 L Q= A5

_U_|Oo|-

=R 92| ASEE H(income elasticity of demand)
« Estimates of the income elasticity for health care are lower when

individual household data are used as the unit of measurement
than when aggregate data are used.

SAHo=0l tist =22 ZHR02!I: age, wage, income, wealth,
education, and health status.




